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7. Find two consecutive even mtegers suchthat the square of the
smaller 1z 10 more than the larger
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8. The product of two consecutive even integers is 6 more
than three times their sum. Find the integers.
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10. Find three consecutive integers such that three times the sum
of all three equals the product of the larger two.
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11. The medium side of a right triangle 1s 7 more than the
shortest side. The longest side 1s 7 less than 3 times the
shortest side. Find the length of the shortest side of the

triangle.
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12. One leg of a right triangle 1s one cm shorter than the other
leg. If the hypotenuse 1s 5 cm, find the length of the shorter

leg.
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13. The longer leg of a right triangle 1s two inches more than
twice the length of the shorter leg. The hypotenuse is two
inches less than three times the length of the shorter leg. Find
the length of the hypotenuse.

2 2
()= i+ Qi)
2 D2 (Bx-ABeR) =X+ (N X 2x+2)
91"1 ‘§/ Qu-jagrd =Xt B s+
N ) ,+
X

G- 1ax+4 = DT+ §xH
4x>30x- 0

k=05

X

14. The longer leg of a right triangle 1s ten less than three times

the shorter leg. The hypotenuke is 4 more than the shorter leg.
Find the length of the shorter leg.
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15. The hypotenuse of a right triangle 1s 3 less than twice the
shorter leg. The length of the other leg is 3 more than the
shorter leg. Find the length of the shorter leg
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16. A ladder is resting against a wall. The top of the ladder
touches the wall at a height of 15 feet. Find the distance from
the wall to the bottom of the ladder if the length of the ladder

1s one foot more than twice 1its distance from the wall.
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17. Two cars leave an intersection. One car travels north: the
other travels east. When the car traveling north had gone 24
miles, the distance between the cars was four miles more than
three times the distance traveled by the car heading east. Find
the distance between the cars at that time.
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